Or
Are the brooks and rivers today as immortal as described in
the poem? Present your views on the same?
4. Do as directed in the following statements . Attempt all
parts. Each question is of 1 mark. (8)
1. Choose the correct answer.
i) Ivan never bought lottery tickets because... .
a. he never wanted to win money through lottery
b. he thought his chances of winning were very low

ii) How did the ranger react when the polar bear appeared?
a. He killed it immediately.
b. He told the adults to protect the children.
c. He tried to scare it away.
d. He asked everyone to move behind him.

2. Fill in the blanks.

i) The Northern Lights are
(mysterious/terrifying/dull)

ii) Special sporting gear has
(Stagnated/ revolutionised)

almost every sport.

3. Write whether the following statements are true or false.

i. It is only modern technology that acts as a driving
force behind the sport industry.
ii. Swaminathan loved the first period.
4.Unjumble the words and write the complete sentence.
to/ history/ period/ forward/ looked / boys / the.
5.Correct the sentence.
i) The second period was that of history.
6. Complete the expressions. Use the words below.
matter right

Many have no
natural habitat

to take animals out of their

Bhagwan Mahaveer Public Sr. Sec.School, Bang
o Class- 7th
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Section - A (Reading) (16 mark
1. Read the following passage carefully and answer the
following questions.
1. A cycle is one of the few vehicles that do not use any form «
fuel or animal energy. It is powered by human energy and the
makes it very eco-friendly. Its popularity is rising meteorically
and even people from affluent background are taking it up as
hobby or for fitness. Many people are becoming aware of theis
carbon footprint and are biking to work once or twice a week.
WWEF India's Himanshu Pandey who lives in Gurgaon, says, "
bicycle has no carbon footprint and riding one attunes® you t
a more conservational lifestyle with an eco-friendly mindset.
The more your body adapts itself to pedalling, the more you
want to push it in the direction where you save more fuel, mc
energy." He says a bicycle ride to his workplace takes him jus
15 minutes more than a ride on a public transport, which is
hardly much. Many areas have cycling clubs like Pedal Yatri :
Gurgaon that have hundreds of people who get together in th
morning for an enjoyable ride spanning 50-200 km.
2. Choosing the perfect bicycle is a matter of utmost
importance for those who are passionate about their rides.
These cycle enthusiasts come from varied backgrounds and &
willing to shell out loads of money for the right bike. Sales of
bicycles have been going up, especially that of high-end ones.
Though there are more cyclists than ever before since the
automobile age started, the ride has not been smooth and the
riders have had to cough out, among other things, high price:
for quality bikes.
(a) Answer the following questions briefly:

(i) Why do the rich take to cycling?

(i) What awareness has been brought by cycling?
(ii) Where can cycling be of use?

(iv) Why has the ride on a bicycle not been smooth ?
(v) Give the name of the cycling club in Gurgaon.
(vi) What are cycle enthusiasts willing to shell out?




Fill in the blanks with suitable words:
(i) Cycling is both, a means of transport and
(ii) Sales of bicycles have been going especially that
of high-end ones.
2. Read the following passage carefully and answer the
following questions. 8
1. In his insatiable greed for material things and physical
comforts, man has ruthlessly exploited natural sources. He
has killed animals for meat, skin and entertainment. He has
felled?® trees for paper, fuel and furniture. He has uprooted
plants for food and medicines. He has dug the ground for
precious stones and minerals. He has not spared even the
oceans and the sky. The result is clear from the signs of
devastation all around. Air is poisonous and so is water. The
disasters like Tsunamis, Katrina and Rita have rendered
millions of people homeless around the globe. This is the direct
outcome of global warming. Thousands of species of animals
like passenger pigeons, moa, quagga and dodo have

disappeared and many are on the verge of extinction.

2. Therefore, we human beings, must realize the significance of
the signals nature is giving us in forms of flash floods, storms
and hurricanes. We must control our lust to master nature. We
should stop felling trees and let the forest cover increase. It will
ensure the safety of animals and birds that serve us in many
ways. We should make our industries environment-friendly.
We should try to save underground water. We should ensure
that vehicles on roads do not add to the air pollution.

Answer the following questions.

(a)Choose the option which is correct or most appropriate.

(i) Natural resources are being used
(a) discriminately
(c) prudently

(b) indiscriminately
(d) none of the above

(ii) Too much exploitation of natural resources is... . ... ... ...
(a) good (b) bad (c) destructive (d) desirable
(iii) Tsunamis, Katrina and Rita are.. ... ...
(a) film actresses (b) the names of sea storms
(c) ordinary girls (d) oceans
(iv) Global warming leads to
(a) natural disasters (b) earthquakes
(c) accidents (d) violence and aggression
(v) In order to improve the environment... ... ...
(a) we should stop felling trees
(b) we should make industry environment-friendly
(c) we should try to save water
(d) All the above
(b) Complete the following sentences:
(i) Man has uprooted plants... ... ... ..
(ii)) Disasters like Tsunamis are the direct... ...
(iii) Many species of animals and birds... ... ...

Section - B literature (31 marks)
1.Words Meaning. Do any 6. (1x6=6)
1.Veil 2. Trout 3.Steep 4. Reverie
S.likelihood 6. Slid 7.Murmur

2. Answer the following questions not more than 20 to 30

words . Attempt any S. (5%2=10)

Why didn't Ivan look at the winning number straight away?

How have the new records in athletics been affected?

How did the ranger deal with the polar bear?

Write a short note on Swaminathan’s history teacher?

How has the poet drawn a parallel between the journey of

the brook and the life of man?

6. Identify the words or phrases from the poem that indicate

the different times of the day.

3. Answer the following question in not more than 30 to
40 words. (3 marks)

How might the outcome have been different if the ranger had

not been there or if he had made a different decision?

SAEER I




ii. We missed the bus. (Simple Present)
4. Join the pairs of sentences with a suitable
conjuction.
i. My brother is tall. I am short.
ii. I have a ball. I have a bat.
5. Underline the adjective in the following sentences
and identify their kind.
i. I would like to buy a pair of leather shoes.
ii. There are ten boys in my class.
6. Rewrite the following sentences in the second
conditional.
i. If you work hard, you will be pass the exams.
7. Choose the alternative which best expresses the
meaning of the idiom in bold letters.
i. If you don't complete the project on time, you'll
get into hot waters.
(a) lag behind others
(b) get into great trouble
(c) be blamed for a failure
(d) feel frustrated about something
ii. She eats like a horse, yet she is so thin.
(a) eat a lot (b) eat very fast
(c) eat very little (d) eat noisily

Do as directed in the following statements. Each question
is of 1/2marks.(4)
1. WORDS WITH MORE THAN ONE MEANING
Complete the pairs of questions.
Choose the appropriate word given below. Make any
necessary changes.
Set treat
i. Doctors work long hours and they have to
many patients . Do you think this is fair?
ii. Do young people sometimes get unfairly?
2. Choose the correct answer
i. A tutor/ lecturer comes to my house twice a week to
help me with a degree in chemistry.
ii. My history teacher is very strict/ easy - going ; we
have to be silent during his lesson.
3. Fill in the blanks with the correct form of have been
to / have gone to.
i. He the shop. He should be back soon.
ii. I China twice.
4. Choose the correct answer.
i. Swaminathan admired/ loathed Sankar who was the
most brilliant boy of the class.
5. Complete the expressions in the sentences below with
the correct word.
Sizes there take
i. The house needs painting here and
ii. Gifts come in all shapes and
Section -C
Creative writing and grammar
6. You are Rishabh, Captain of your school hockey team .
Write a notice informing players to reach the school hockey
ground for a special practice session.Give necessary
information.put the notice in a box. (5)

(33 Marks)




Or

As a Senior NCC Cadet of D.A.V. Public School, Kurukshetra,
you have been asked to draft a notice about a 10-day NCC
training camp to be held in Delhi. Write the notice, and put it
in a box.

7. You have been a witness to a very serious accident.
Write a diary entry about it. (6)

Or

Describe your school canteen
VALUE POINTS

The most favourite haunt of students

Fresh eatables available at reasonable rates

A Quality goods supplied

A good trace to refresh and relax

*

*

*

8. Write an application to the principal of your school
requesting him to arrange CDs of the science practicals for
your class. You are Nikita, a student of class VII.
Hints:
* Say that most of the subjects can be taught better through
CDs
Explain how it makes teaching effective and interesting
* Tell that it is the need of the hour
Or
Write an application to the Principal of your school
requesting him/her to organize special coaching classes in
mathematics and English.
Hints :
Introduce yourself and state the purpose of your writing
Express reason why you need extra classes
e express hope that your request will be accepted

Grammar (16 marks)
e Do as directed. Attempt all questions.each question is of
Y2 marks. (5)
1. Write a suitable adjective to describe the following
nouns.
i) A boy (quality)
i) A bird (size)

2. Fill in the blanks with the correct degree of adjectives
given in the brackets.
i) My sister is... ... ... .. ( beautiful) than me.
ii)She is the... ... ... .. ( tall) girl in the class.
3.Underline the correct option in the following sentences.
i))Why does he go to clinic so frequently/ frequent ?
ii)Tina lives Near/Nearly the hospital.
4. Fill in the blanks by converting the words in brackets
into adverb.
i) Reena dances (grace)
ii) I can (hard) hear you.

5. Identify the type of conditional in each of the following
sentences.

i) We will cancel the match if it rains.
ii) If you had worked harder, you would have cleared the

exams.
6. Fill in the blanks with appropriate conjuction.
i) he was honest, no one believe him.
7. Do as directed in the following statements.Attempt all
parts. Each question is of 1 mark . (11)

1) Underline the clause and name its type.
i) You can come whenever you like.

ii) What I have seen was quite unexpected.
2. Rewrite the following sentence in simple past tense.
i) I was playing in the garden .
3. Rewrite the following sentences by changing their tense

as directed in the brackets.
i) She had been waiting for the bus for two hours.

(Present perfect continuous)
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Find the value of x in triangle.

28) Solve 7y-4=10

Section -C (3x6=18)

29) The length of a rectangle is 7.1cm and it’s breadth is

2.5 CM. What is area of the rectangle ?

30) Evaluate :- 14 + %

Or
Find the median and mode of the following data
13,16,12,14,19,12,14,13
31) The age in years of 10 teachers of a school are
32,41,28,54,35,26,23,33,38,40
a) What is the age of oldest teacher and that of the youngest

teacher?
b) What is the range of the ages of the teachers?

c) What is the mean age of these teacher?

Bhagwan Mahaveer Public Senior Secondary Sc
fﬁm Class - 7t: B. B + H. S (2024-25)
BMPBS Mathematics
Section :- A
Multiple choice questions

. 3.
1) Reciprocal of 2 PRI

a) 10/4 b) 10/3 c)4/11 d) 11/
2) The probability of impossible event is

a) 1 b) 10 c) 0 d) none of tl
3) If 3x+9 = 45, then the value of x is

a) 5 b) 10 c) 11 d) 1:
4) If lines are parallel then... ... ... angles are equal.

a) Alternare interior angle b) corresponding ar

c) alternate exterior d) all of these

5) The supplement of 64 is......
a) 115 b) 116 c) 38 d) 72

6) A triangle one of whose angles measures 90 is called

Triangle.
a) Acute b) obtuse c) right d) none of these
7) The sum of any two sides of a triangle is always.........
Third side.
a) Less than
c) greater than
8) 0.23x 0.5 is equal to
a) 100 b) 1.15 c) 1.17 d) 0.115
9) In the bar graph, width of the rectangle... ... ......
a) Remains the same b) keeps changing

b) equal to
d) none of these.

c) aorb d) decreases.
10) Constant term in 3x2?+ 5x+8 is c
a 8 b3 ¢S5 d2 o

40°
11) The measure of BOD is




b) Unlike fractions
d) None of these.

a) Like fractions
c) Equivalent fractions
True/ false

13. Ten times x is 70 can also be expressed as 10x= 70.
14. A quadrilateral has 4 pairs of adjacent angles.
15. A triangle has three altitudes.

Fill ups:-

16. 0.63+9 =
17. The number of times a particular observation repeats

itself in a data is called .
18. Write equation : X subtracted from 15 is

Assertion Reason

19. Assertion (A) : In a data set with values 2,4,4,6 and 8, the
mean is greater than the median.
Reason (R) : The mode of any data set is the same as its median.
a. Both A and R are true and R is the correct explanation of A
b. Both A and R are true and R is the correct explanation of A
c. Both A and R are true but R is not the correct explanation of A
d. Ais true but R is false.
20. Assertion (A) : 1.5cm, 2cm, and 2.5cm are the possible
sides of a right angled triangle.
Reason( R) : It is possible to have an equilateral right
angled triangle.
a. Both A and R are true and R is the correct explanation of A
b. Both A and R are true and R is the correct explanation of A
c. Both A and R are true but R is not the correct explanation
of A
d. Ais true but R is false.

Section- B (2x8=16)

. . 7
21) Simplify:- " X p
22) Multiply 14.12 with 3.2

23) The runs scored by a batsman in 6 one day matches a
given below : 25,12,45,75,63,20.
Calculate the mean runs scored by him in the 6 one de

matches.
Or

Find the megian of the following data :
2,2,0,4,12,10,6,8,5,7.
24) Write the equations for the following statements:-
a) 4 added to one third of x gives 12.
b) x divided by S gives 13.
25 ) Identify corresponding angle and alternate interior ang

the given figure :

|

26) Is it possible to have a triangle with sides 5,6,11?
OR




32) Solve 5x-6=12-x
Or
2x-2=9
33) Find a number, such that one forth of the number is 3

more than 7.
34) lines 1 and m are parallel. Find the value of x

OR
Find the value of x in
e
,//. -
<= =
Section - D (5%4=20)

35) Find the reciprocal and classify the reciprocal as prop
fraction, improper fractions and whole fractions.
a) 9/7 b) 1/8 c)8/5 d)6/5

36) Two hundred students of 6t and 7th class were asked
their favourite colour so as to decide upon what should
the colour of their school building. The results are show

in the following table:




Favourite colour Number of students

Red 43
Green 19
Blue 55
Yellow 49
Orange 34

Represent the given data on a bar graph.

Answer the following questions with the help of the bar graph:
a) Which is the most preferred colour?
b) Which is the least preferred colour?
c) How many colours are there in all? What are they?

37) Solve 2(x-1) = x+2 and verify the answer.
OR
Check whether the value given in the bracket is a solution
to the given equation or not:
n+5=19 (n=3)
38) Find the value of x and y in

40°

S

Case study based questions (3 marks each)

39. In a class of 40 students % of a total number of students

like to study English and % of the total number of

students like to study math and remaining like to study
science.

Answer the following questions
1. How many students like to study English?

a)S b) 14 c) 8 d 7
2. How many students like to study Maths?
a) 2 b) 40 c) 5 d) 16
3. What fraction of the total number of students like to s
science?
a) % b) 3 c) Y% d) ¥

40. Observe the bar graph and answer the following ques

Total No. of Boys and Girls in Various
Colleges
GIRLS BMBOYS

el R
20 |
- I I I I I
a B « D E
COLLEGES

1. In which class the highest number of boys are ?

a) Class A b) Class D c) Class E d) Class C
2. How many boys and girls are in class B?

a) 39,20 b) 30,25 c) 35,29 d) 35,20
3. Difference between boys of college B and college A

a) 17 b) 2 c) 23 d) 7




7. Differentiate between physical and chemical change. - Bhagwan Mahaveer Public Senior Secondary Schoo]
2 Class - 7th H.S.N+B.B (2024-25)

%

4 marks position. Do any 3. (4%x3=12 marks) EMPS

Subject : Science Marks 80
1. What are essential factors for photosynthesis? What are the MCQ. . (1x8=8marks
final products made after photosynthesis? Explain with the help 1. Green colour of plants is due to
of the labelled diagram. a.stomata b.chlorophyll c.starch d. None of thes
2. Draw a labelled diagram of the human digestive system. 2.Plants that obtain their nutrition from decaying organic

3. How rusting of iron can be prevented ? Explain. matter is called

a. Insectivorous b.Carnivores c.Saprophytes d.Parasites
4. How do we breathe? Explain with the help of diagrams. ) ) )
3.The last part of the digestion of food takes place in the

Case based question. It is compulsory to attempt . a. Mouth  b.Stomach c.Oesophagus d.Small intestins

(4 marks) o
It is now well known that animal intestines contain a large 4. A liquid gets heated up by
population of gut flora. Gut flora is a bacteria inside intestines. a. Conduction b.Convection c.Radiation d.Absorptior

Mostly the two bacterias naturally found in human body are

5. In convection mode of heat , the particles get heated up anc
bacteriods and acidophillus.

The bacterias break down the complex nutrients into simpler a. Rise up b. Move down
substances. Bacterium lactobacillus acidophilus is found c.Move sideways d .none of these
mainly in human gastrointestinal tract, mouth and vagina . 6. Which of the following is needed for rusting?
L.aci hill i in B1 E.coil
.ac1d. ophillus produces vitamin B12 and E.coil produces a. Paper b. Water c.Chalk d. Stone
vitamin K2.
1. What is gut flora? 7. What is the main product of respiration?
2. Name any two bacteria which are found in humans a. Energy b.Carbon dioxide c.Water  d. All of the:
naturélly. . i . ) ) ) 8. In cockroaches, air enters the body through
3. Bacterium lactobacillus acidophilus is found in which part
of humans a. Lungs b.gills c.spiracles d .skin

4. Name the vitamins produced by L. Acidophilus and E.coil. Blanks . (1x8=8 marks
1. The food synthesised by plants is stored as
2. Saliva is created in the mouth by
3. is digested by bacteria in ruminants.




is the fastest mode of transfer of heat.
In a chemical change, a is formed.
Conversion of water to is a physical change.
............. respiration takes place in the presence of oxygen.
8. The number of times a person breathes in a minutes is
known as.............
True false. (1x4=4 marks)
1. Fungi grow best in cold and dry condition.
2. Gases show maximum expansion on heating.
3. Plants carry out respiration only at night.
4. Anaerobic respiration needs oxygen.
1 marks questions. All questions are compulsory.
1. What are components of food? (1x10=10marks)
2. Why do leaves look green?
. Name the process by which food is crushed and ground
by teeth.
4. Name the mammal that digests plant based food.
5. Give one word for degree of hotness of a body.
6. The smallest unit of measuring temperature.
7. Cutting off a cloth with scissor. Is it physical change or
chemical change?
8. Burning of paper?Is it physical change or chemical change?
9. Name the process of taking in and giving out air, for
respiration.
10. Name the process when the diaphragm moves down, the
ribcage expands , there is expansion inside the lungs and
the air moves into the lungs.

2 marks questions. Do any eight questions.
(2x8=16 marks)
1. What is autotrophic mode of nutrition? Give examples of
autotrophs.
2. Define stomata? What is the function of stomata?

oA

N

w

What is enamel?

What is pseudopodia ?

Name the three different modes of transfer of heat.
How is heat measured?

Give 2 examples of desirable chemical changes.

Write 2 methods which can be used to prevent rusting.
What is cellular respiration ?

WoNoO kW

3 marks questions. Do any 6 . (3x6=18 marks)

1. How would you test the presence of starch in leaves?

2. Name the 4 types of teeth.

3. Write the 4 compartments in a ruminant’s stomach.

4. a) What is the difference between a conductor and a
insulator?

b) Why does black clothing absorb more heat than white

clothing?

5. List the conditions necessary for rusting.

6. Picture based question.

Look at the picture and label it.




Case study (1*3=3)

The super cyclone of Odisha on 29 October 1999 is called the
biggest cyclone of that century. About twenty five to fifty
thousand people as well as domestic animals had perished in
the cyclone A tropical depression was formed over the Malay
Peninsula on 25 October. It moved to north-west and became
a tropical storm on 26 October. It continued to strengthen
into a cyclone on 27 October. On 28 October, it became severe
cyclone with the speed of 260 km per hour and the very next
day it hit India at speed of 250 km per hour which caused
extreme damage destruction and death.

Impacts

The cyclone caused heavy torrential rain over southeast India
causing a road breaking 26 feet surge It struck the cost of
Odisha.Crops were damaged and an additional 90 million
trees were uprooted. Approximately 275,000 homes were
destroyed leaving 1.67 million people

homeless. A total of 10000 people died, hundreds went
missing and thousands were injured

Relief

Timely warning of cyclone made it possible to evacuate
thousands of families. The Indian Red Cross Society
immediately responded with emergency relief .The state
government ,the Army ,the Airforce and several NGOs
extended help and operated for 3 months .Rehabilitation
programs extended much beyond six months.

Answer the following questions after reading case study
(1*3=3)
Q. How many people and domestic animals had perished in
the cyclone?

Q. How many trees were up rooted?
Q

. Which society immediately responded with emergency
relief?

2 Bhagwan Mahaveer Public Sen Sec School Bang:
EEE Class 7t2(BB , HSN)

BMFS Subject - Social Science
Term 1
Time- 3 hours M.M : 80
1 Multiple Choice Option (1¥10=10)

1) By whom were the Delhi sultans over thrown?

a Tughlugs. b Cholas
¢ Mughals. d Europeans
2) King Dharmpala belonged to the Dynasty

a) Prtihara
c) Pala

b) Rashtrakuta
d) Paramara

3) The first Battle of Tarain was fought in ____
A) 1192 CE B) 1191CE. C) 1190 CE. D) 1206 CE
4 Ain i Akbari was written by
a) Raja Todarmal
c) Al-Beruni

b) Faizal
d) Abdul- Faizal

S environment consists of plants ,animals and
human beings.
a) Abiotic b) Chemical c¢) Human d) Biotic

6. Fossil fuels are found in
a) metamorphic rocks
c) igneous rock.

b) Sedimentary rocks
d) SIMA

7. The plates forming the Earth’s crust are called
a) Layers b) Lithosphere.
c)Lithospheric plates d) Lava sheets

8 A wind to vane is used to find the
a) Wind direction b) Wind speed
c) Wind pressure. d) Air pollution

9. The first nation which adopted written constitution is
a) America b) Britain c) France d) India




10. Rule of law means
a) All are above law. b) Only a few are above law
c) No person is above law d) The president is above law

2. State whether the following statements are true or

false (1*6=6)
a) is an important aspect of all democracies
b) Loksabha is a legislature at the level

c) The term ‘democracy’ has originated from word
d) is a form of precipitation

e) MT. Etna is an example of an volcano.

f) The Pallavas had their capital at

3. Match the following ( 1*6=6)
Column A Column B

Glaciers. Single mouth entry

Delta. Wind action

Cliff. Mouth of a river

U shaped valley
Vertical wall of rock
Abul Fazl

Mushroom rock.
Estuary
Akbarnama.

5. Unscramble the following word (masli) and fill in the
blank. (1¥1=1)

1. A new religion base on the worship of one God ,
Allah , arrived in India in the 7th century.

6 Assertion (A) Mt. Vasuvius in Italy is a dormant volcano.

Reason (R ) Volcanoes which are not erupted for a long
period of time are called dormant volcanoes. (1*1=1)

(a)Both A and R are true and R is the correct explanation of A

(b)Both A and R are true but R is not correct explanation of A

(c) A is true but R is false.

(d) A is false but R is true.

7. Very short answer type questions.

1 Name the two categories of historical sources ?
2 Who was the founder of Chola dynasty?
3 Who built the Grand Trunk Road?

(1¥10=10)

4 What is lithosphere?

5 Who proposed the Theory of Pangea?

6 Write down the name of any four democratic countries of
the world.

7 What do you mean by rule of law

8 What do you mean by Indirect democracy?

9 What is composition of air??

10 Which part of India was controlled by Pala rulers?

Short answer type questions (2*7=14)

1 Which ports were the major centres of internal and foreign
trade during the medival period?

2 Differentiate between the natural and human environment
with suitable examples.

3 Indian democracy is representative democracy .why did
India not adopt direct democracy?

4 What are the main characteristics of igneous rocks?

S5 What made Nelson Mandela to write for equality?

6 How was the foundation of Mughal Empire laid in India?
7 How is a member of a legislative Assembly elected?
8.Discuss the origin of Rajputs?

Long type question answers (3*5=15)

1. What are different types of winds describe each of them
giving suitable examples?

2. Give information about the powers and functions of chief
minister

3. Through a strong rulers , check administrator summa
believe that decline of Mughal Empire had set in during the
reign of Aurangzeb why?

4. Discuss the impact of discrimination on the society?

S. Explain the essential condition for the success for working
of a democracy.

6. How did the King of Early Medieval India Manage their
administration.




Picture based questions (1*3=3)
1. Which system is picture depicting?

°
dreamsEime.com

Attempt the following map (1*5)
1. Mark any 1 waterbody and 1 Island on the map

2. Mark any 1 place where Lodhi dynasty was extended?
3. Mark any 2 places where Mughal Empire was extended

during the Akbar’s reign

Picture based questions (1*3=3)
1. Which system is picture depicting?

Attempt the following map (1*5)

1. Mark any 1 waterbody and 1 Island on the map

2. Mark any 1 place where Lodhi dynasty was extended?

3. Mark any 2 places where Mughal Empire was extended
during the Akbar’s reign




4. Write the output:
if (True):
print(“Hello”)
else:
print(“Hi”)
5. What is the answer of the expression, 2**2**27?
6. Which statement is the simplest conditional statement.

Q8. Short Question Answers: (Do any 6) 2X6=12
1. Write the syntax for the if....elif... else statement.
2. What is description list?
3. What is an octal number system?
4. How is classic tween different from motion tween?
5. What is the use of the HR tag?
6. Which property is used for indentation in HTMLS?
7. What is decision-making statement?
Q9. Long Question Answers: (Do any 5) 3X5=15
1. Draw the flow chart for nested if statement.
2. Differentiate between the ordered list and unordered list
3. What are the rules to convert a decimal number into a

binary number?
. Write the rules to subtract two binary numbers?
. What are layers? How are they useful in Animate?
. Explain the uses of the font property in detail.

o U1
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Class 7th BB, HS (2024-25)
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Term-I M.M 80
Q1. MCQ: 1X7='
1. In binary addition, 0+1 is equal to .
(@O (i) 1 (iii) 10 (iv) 2
2. The default FPS in animate is set to FPS.
(i) 45 (i) 34 (iii) 24 (iv) 54

3.Which of the following property is used to underline the te
on web page?
(i) Text- transformation (ii) Text- decoration
(iii) Text-color (iv) All of these
4. The tags are used to add headings in a web page.
(i) Heading (ii))Subscript  (iii) Superscript  (iv) Style

5. Which tag allows the user to insert a table in a web page*
(i) IMG (i) A (iii) TABLE (iv) LI

6.Which of the following conditional statements is used to
test multiple conditions?
(i) if (ii)if..else (iii) if.. elif...else (iv)All of these
7. 1f a=20 and b=10, then what will be the output of the
following code:

if (false):
print(a+b)

else:
print(a-b)

(i) 30 (ii) 20 (iii) 10 (iv) Nothing will print.
Q2. Fill in the blanks: 1X7=1
1. The OL tag is used to create an .

2. is used in animate to hide a selected part fror
the audience.
3. The tag is used to define a section of text as a

paragraph.




4. In binary addition, 1 + 1 is equal to .
5. The block will be executed if and only if the
provided condition evaluates to false.

6. Decision statements may give the results true or

7.In binary subtraction, 1 - 1 is equal to

Q3. Write True/ False: 1X7=7

1 The TR tag is used to create cells in the table.

2 The Break Apart option is used to split a word into
individual characters.

3 The colour of the text cannot be changed in a web
page.

4 TD tagis used to align the position of text in the cell
vertically.

5 The base of decimal number system is 8.

6 The Shape Tween is indicated by the Yellow colour on
the Timeline.

7 Theif...... elif.... else ladder not a conditional statement
in Python.

Q4. Application Based Questions: (1X6=6)

1. Rahul wants to create an animation in which a shape of a
triangle gets changed into a square. But he does not know
the type of animation is used to do so. Suggest him an
animation through which he can complete the task.

2. Sahil wants to display the marks obtained in Maths,
English, Science and Computer Science on the webpage.
Give him the best-suited HTMLS tag that helps him
complete the task.

3. Riya is preparing a table for her webpage. The data in one
of the cells extends over more than one column. Which
attribute can she use to solve this problem?

4. Geeta wants to list down the steps involved in baking a cake.
Which html tag does he need to start the list.

5. Simran is working in an Animate CC Document. She wants
to apply different colours to the individual letters of word,
but she doesn’t know the option used split the word into
letters. Tell her the option used to do so.

0. a=120

b= 30
if b> a:

print(“b is greater than a”)
else:

print(“b is not greater than a”)

Q5.Write the full form of the following: (Do any 7) 2X7=14

1. MCD 2. HR 3. ISP 4. WWW

5. CSS 6. UPS 7. FPS 8. URL
Q6. Write the shortcut keys for the following. (Do any 7)

1X7=7

1. To maximize the active program window

2. To close a file

3. To cancel the current task

4. To undo an action

5. To move one word to right

6. To select all content

7. To rename selected file.

8. Switch between open program.

Q7. Very Short Questions. (Do any 5) 1X5=5

1. Which tag is used to write algebraic formulas?

2. Which tag is used to write the chemical formula of
water?

3. The base of binary number system is




